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Paper 1 
Booklet A 
Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1. 2, 3 or 4) on the Optical Answer
Sheet. (20 marks) 

1 Which of the folfowing is between 4.1 and 4.2? 

(1) 4.05

(2) 4.12

(3) 4.21

(4) 4.50

2 Which of the following is likely to be the height of a classroom door? 

(1) 20 cm

(2) 2 cm

(3) 200 cm

(4) 2000 cm

3 Express 3a + 5 - a - 2 in its simplest form. 

(1) 2a - 3

(2) 2a + 3

(3) 4a-3

(4) 4a + 3
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11 

There are 3 different poles, A, B and C. Pole A is 4 times as long as Pote B.

Pole CJs twice· as long as Pole A. Find the ratio of the length of Pole C to the
total length of Pole A and Pole B. 

{1) 8: 13

(2) 8:5

(3) 2: 1

(4) 1 : 4

Jane had some roses. 40% of her roses were pink and the remaining roses were
white. She gave away SOrl'.)�_white.roses .. and had 25% of her white roses left. 
Whafpercenfage'cifher·roses were given away?

(1} 15%
{2) 30% 

(3) 35%

(4) 45%

12 A rectangular tank measuring 10 cm by 8 cm by 6 cm was� filled with water.
When all the water in the rectangular tank was poured into a container,
120 cm3 of water overflowed. What was the capacity of the container?

(1) 200crn3
(2) 320 cm3 

(3) 360 cm3 

(4) 440 cm3 
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13 ABCD is a trapezium. AD II BC and AB :.:: BC. Which oft� following is true? 

( 1) LADC and L.ABC are equal.

(2) LOAB is twice the size of L.DAC.

.......... .. .... . J�) The sum of L.DAB and L.ABC is more than 180°.

(4) The sum or LABC and L.BCD is 180°.

14 In the number line below, what is the difference between the length of PS and the 
length of QR? 

--+--+--+t--r-t----t---t-�lr---r--...,.--tl---
0cm P O 1 R s �cm 

s
cm 

5 

(1) 0.04 cm

(2) 0.08 cm

{3) 0.12 cm

(4) 0.16 cm
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15 In th.e figure below, PQRS is a square. SQ and TR are straif)ht lines. Find Ly.

{1) 51"

(2) 78° 

...... (3l•·"···••B4,.,·"· ·············· ..... 

(4} 96° 
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BookletB 

Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. 
For questions which require units, give your answers in the unfts stated. (5 marks) 

16 Write one million, twelve thousand and twenty in numerals. 

Ans: _______ _ 

17 Measure and write down the size of L z.

z 

Ans: _______ _ 

18 Express � as a decimal. Give your answer correct to 2 decimal places. 7 

Ans: _______ _ 
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19 Peter spent 20% of his money, on a bag and 'i of his money on a shirt

What percentage of his money did he spend? 

Ans: _________ % 

20 The figure below is made up of identical rectangles. 
What fraction of the figure is shaded? 
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Questions 21 t? 30 carry� marks each. Show your vvorking clearly in the space provided
for each queshon and wnte your answers in the spaces provided. 
For questions which require units, give your answers. in the units stated. (20 marks)

21 
. 30-2m Find the value of . when m = 10. 

4 
leave your answer as a mixed number in its simplest form. 

Ans: ______ _ 

22 In the figure below, ABCD is a parallelogram and DEF is a triangle. 
AF and CE are straight lines. L DAB= 69° and L. EFD = 2go. Find L DEF. 

8 

F 
C 

Ans: ______ _ 
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23 The figure is made up of a semicircle end a quadrant AO = OB. 
22 

Find the perimeter of the figure. Taken = 7.

Ans: _______ cm 

24 Lucas participated in a thirty-minute quiz. During the first ten minutes, he 
1 

managed to answer 
3 

of the questions. In the next twenty minutes, he managed

to answer another 27 questions. He only managed to answer 
6 

of all the

questions in the quiz.. How many questions were there altogether in the quiz? 

Ans: 
---------
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25 Figure 1 shows a rectangular sheet or paper WXYZ. The sheet or paper is folded 
at one comer as shown iri Figure 2 so that L WAX= 104°. Find L WAB .

w 
. 104

°

w 

z y z y 

Figure 1 Figure 2 

Ans: _______ _ 

26 A tank is � filfed with water. How much water is in the tank?7 
Give your answer in t. 

I. 

,!---�-f.:. -;.�·
.:' 

-
;: ... · ..

-1'. 
'a ·:- • •• • !:

30cm 

35cm 

Ans: 
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Dexter had $21 O more than Brad al first. Dexter spent 6 of his money

3 
and Brad spent - of his money. In the end, Dexter and Brad had the 

5 

same amount of money left. Find the amount of money Brad had at first. 

Ans:S --------

4 Mary used p strawberries to decorate 3 similar cakes. 

After decorating 21 such cakes, she had 4 strawberries left. 
Express the number of strawberries Mary had at first in terms of p.

Ans: _______ _ 
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1 36 �rkers we� supposed to pack an equal number of boxes of oranges
each .. Howe�r. � \NOrkers fall sick and did not report for work. As a result,
the rest of lho\vorkers had to pack n mom boxos of oranges oath. 
Find the total number of boxes or oranges that wore packed In terms of n. 

Ans: ________ [3} 

8 There were 16 more white buttons than red buttons in a bag. 
Miss Ouek removed 22 white buttons and replaced them with 22 red 
buttons. After this, there were three times as many red buttons as white 
buttons in the bag. What was lhe total number of buttons in the bag in the 
end? 

Ans: ________ [3] 
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12 There were 25 more boys than girls in the hall at fll'St 32% of the boys · 
and 20% of the girls left the hall. In the end, there were 7 more girls than 
QQyS remaining in the hall. How many boys were there in the hall.in the 
end? 

Ans: _______ [4) 
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14 In the figure below, UPQR is a rhombus, URS is an equilaterai triangle
Oo not write and SUT is a right-angled triangle. RVf and SUP are straight lines. in this space RS=UT. 

{a) Find LROP. 

(b) Find LRTS.
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15 The figure below shows 2 overlapping semicircles and two· shaded· areas, Do not write
A and C. The diameter of the big semicircle is 33 cm and the diameter of in this space
the small semicircle is 18 cm. 

· · · · · · 

The area of unshaded area Bis 327r cm2
• 

Use the calculator value of Jt to find the total sbaded area of A and C. 
Give your answer correct to one decimal place. 

18cm 
33cm 

Ans: ______ [4] D 
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16 Mr Samy sold 4 times as many ipads as laptops and collected
a total of $8400. The amount collected for all the ipads sold
was $3480 more than the amount collected for all the laptops sold.
Each laptop costs $325 more than each ipad.

(a) How much was collected from selling all the ipads?

(b) How many laptops did Mr Samy sell?

Do not write 
In t.his space 

Ans: (a) [21 

(b) _______ [J] :o 
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17 Bala had some red. yellow and blue beads. The. ratio of the number of red 
beads to the number of yellow beads was 2 : 3. The ratio of the number of Do not write 

yellow beads to the number of blue beads was 4 : 1 � He then bought in lhis space 

some blue beads and gave 9 red beads to his brother. In the end, the 
ratio of the number of red beads to the total number of yellow and blue 
beads became 1 : 6 and the ratio of the number of yellow beads to the 
number of blue beads became 2 : 3. 

(a) Find the ratio of the number of red beads to the number of yellow
beads to the number of blue beads at first.

(b) How many blue beads did he buy?

Ans:(a) _______ [1] □ 

(b) _______ (4) I

END OF PAPER 
CHECK YOUR WORK CAREFULLY l 
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